2, 5 and 10 Times Table Maths Riddles

To find the answers to these cryptic riddles and jokes, solve the times table calculations to break the
code by matching the answers to the corresponding letter.

A B c D E F G H I J K L M
& 22 &0 2 20 90 8 25 45 5 65 10 50
N o P Q R 5 T u v w X ¥ Zz
16 40 55 75 30 14 70 24 35 18 80 15 -
What are 10 things you can always count on?
5x=3 4 =10 12 =2 5x6 10
10=9 5=9 2=8 4=12 4=x§ 3=10 T=2
What did the triangle say to the circle?
3=5 8=5 2x%12 10 =3 2=10 .
M=5 10 =4 9x5 8=2 T=10 | 1=10 [10=2 | 2x7 Tx2

If I had six oranges in one hand and four apples in the other hand, what would I have?

1M=1| 5=3

2=1

o




2, 5 and 10 Times Table Maths Riddles Answers

To find the answers to these eryptic riddles and jokes, solve the times table calculations to break the
code by matching the answers to the corresponding letter.

A B C D E F G H I J K L M
& 22 &0 2 20 20 8 25 45 5 65 10 50
N o P Q R 5 T u v w X Y 4
16 40 55 75 30 14 T0 24 35 18 80 15 4
What are 10 things you can always count on?
Y o u R
5x3 4 =10 12 = 2 5=
F 1 N G E R 5
10 =9 5=9 2=8 4 = 2 4 =5 3=10 T=2
What did the triangle say to the circle?
Y o u ' R E
3=5 & =5 2=12 10 =3 2=10
P (o] I N T L E 5 s
M=5 M0=4 | x5 §=2 | T7=10 | 1=10 |10=2 | 2x7 | T=2

If I had six oranges in one hand and four apples in the other hand, what would I have?

R E A L L Y L0 L
6x5 | 5=x4 | 3x2 | Z2x5 | 10=1| 5x3 ( A \
o ~___/
B I G H A N D 5
2=M 5=9 2x4 5x5 2=3 g =2 2 =1 2=7




